
&HUWLILFDPRV�� SDUD� RV� GHYLGRV� ILQV�� TXH�$/,6621�)$%5,&,2�'(�2/,9(,5$�� GH�
PDWUtFXOD� ������������ SDUWLFLSRX� GR� 7527(� 9(5'(� �������� SURPRYLGR� SHOD�
&RPLVVmR� GH� *HVWmR� $PELHQWDO� GD� 8QLYHUVLGDGH� )HGHUDO� GD� 3DUDtED� HP� ��� GH�
IHYHUHLUR�GH�������$�DWLYLGDGH�IRL�UHDOL]DGD�QR�SHUtRGR�GH�GXDV�KRUDV��



&HUWLILFDPRV��SDUD�RV�GHYLGRV�ILQV��TXH�$//(66<$�/$5$�'$17$6�)250,*$��GH�
PDWUtFXOD� ������������ SDUWLFLSRX� GR� 7527(� 9(5'(� �������� SURPRYLGR� SHOD�
&RPLVVmR� GH� *HVWmR� $PELHQWDO� GD� 8QLYHUVLGDGH� )HGHUDO� GD� 3DUDtED� HP� ��� GH�
IHYHUHLUR�GH�������$�DWLYLGDGH�IRL�UHDOL]DGD�QR�SHUtRGR�GH�GXDV�KRUDV��



&HUWLILFDPRV�� SDUD� RV� GHYLGRV� ILQV�� TXH� $1$� %($75,=� 025$,6� 9,(,5$� '(�
)5(,7$6� 0$5,1+2�� GH� PDWUtFXOD� ������������ SDUWLFLSRX� GR� 7527(� 9(5'(�
��������SURPRYLGR�SHOD�&RPLVVmR�GH�*HVWmR�$PELHQWDO�GD�8QLYHUVLGDGH�)HGHUDO�GD�
3DUDtED�HP����GH�IHYHUHLUR�GH�������$�DWLYLGDGH�IRL�UHDOL]DGD�QR�SHUtRGR�GH�GXDV�
KRUDV��



&HUWLILFDPRV�� SDUD� RV� GHYLGRV� ILQV�� TXH�$1$�/8,=$�'(�6È�7(/(6�(�/,0$�� GH�
PDWUtFXOD� ������������ SDUWLFLSRX� GR� 7527(� 9(5'(� �������� SURPRYLGR� SHOD�
&RPLVVmR� GH� *HVWmR� $PELHQWDO� GD� 8QLYHUVLGDGH� )HGHUDO� GD� 3DUDtED� HP� ��� GH�
IHYHUHLUR�GH�������$�DWLYLGDGH�IRL�UHDOL]DGD�QR�SHUtRGR�GH�GXDV�KRUDV��



&HUWLILFDPRV�� SDUD� RV� GHYLGRV� ILQV�� TXH� $1$� 3$8/$� '$� 6,/9$� &267$�� GH�
PDWUtFXOD� ������������ SDUWLFLSRX� GR� 7527(� 9(5'(� �������� SURPRYLGR� SHOD�
&RPLVVmR� GH� *HVWmR� $PELHQWDO� GD� 8QLYHUVLGDGH� )HGHUDO� GD� 3DUDtED� HP� ��� GH�
IHYHUHLUR�GH�������$�DWLYLGDGH�IRL�UHDOL]DGD�QR�SHUtRGR�GH�GXDV�KRUDV��



&HUWLILFDPRV�� SDUD� RV� GHYLGRV� ILQV�� TXH� $1'(5621� &2,0%5$� 3(5(,5$�� GH�
PDWUtFXOD� ��������� SDUWLFLSRX� GR� 7527(� 9(5'(� �������� SURPRYLGR� SHOD�
&RPLVVmR� GH� *HVWmR� $PELHQWDO� GD� 8QLYHUVLGDGH� )HGHUDO� GD� 3DUDtED� HP� ��� GH�
IHYHUHLUR�GH�������$�DWLYLGDGH�IRL�UHDOL]DGD�QR�SHUtRGR�GH�GXDV�KRUDV��



&HUWLILFDPRV��SDUD�RV�GHYLGRV�ILQV��TXH�$1'5e�0$5,1+2�%$5%26$��GH�PDWUtFXOD�
������������SDUWLFLSRX�GR�7527(�9(5'(���������SURPRYLGR�SHOD�&RPLVVmR�GH�
*HVWmR�$PELHQWDO�GD�8QLYHUVLGDGH�)HGHUDO�GD�3DUDtED�HP����GH�IHYHUHLUR�GH�������
$�DWLYLGDGH�IRL�UHDOL]DGD�QR�SHUtRGR�GH�GXDV�KRUDV��



&HUWLILFDPRV��SDUD�RV�GHYLGRV�ILQV��TXH�$1'5(=$�/Ë9,$�*20(6�),*8(5('2��GH�
PDWUtFXOD� ������������ SDUWLFLSRX� GR� 7527(� 9(5'(� �������� SURPRYLGR� SHOD�
&RPLVVmR� GH� *HVWmR� $PELHQWDO� GD� 8QLYHUVLGDGH� )HGHUDO� GD� 3DUDtED� HP� ��� GH�
IHYHUHLUR�GH�������$�DWLYLGDGH�IRL�UHDOL]DGD�QR�SHUtRGR�GH�GXDV�KRUDV��



&HUWLILFDPRV��SDUD�RV�GHYLGRV�ILQV��TXH�$11$�&/$5$�&$6,0,52�)250,*$��GH�
PDWUtFXOD� ������������ SDUWLFLSRX� GR� 7527(� 9(5'(� �������� SURPRYLGR� SHOD�
&RPLVVmR� GH� *HVWmR� $PELHQWDO� GD� 8QLYHUVLGDGH� )HGHUDO� GD� 3DUDtED� HP� ��� GH�
IHYHUHLUR�GH�������$�DWLYLGDGH�IRL�UHDOL]DGD�QR�SHUtRGR�GH�GXDV�KRUDV��



&HUWLILFDPRV��SDUD�RV�GHYLGRV� ILQV�� TXH�$5$8$1$�/,0$�(�6,/9$��GH�PDWUtFXOD�
������������SDUWLFLSRX�GR�7527(�9(5'(���������SURPRYLGR�SHOD�&RPLVVmR�GH�
*HVWmR�$PELHQWDO�GD�8QLYHUVLGDGH�)HGHUDO�GD�3DUDtED�HP����GH�IHYHUHLUR�GH�������
$�DWLYLGDGH�IRL�UHDOL]DGD�QR�SHUtRGR�GH�GXDV�KRUDV��



&HUWLILFDPRV�� SDUD� RV� GHYLGRV� ILQV�� TXH� $5785� /8,6� 62$5(6� &255(,$�� GH�
PDWUtFXOD� ������������ SDUWLFLSRX� GR� 7527(� 9(5'(� �������� SURPRYLGR� SHOD�
&RPLVVmR� GH� *HVWmR� $PELHQWDO� GD� 8QLYHUVLGDGH� )HGHUDO� GD� 3DUDtED� HP� ��� GH�
IHYHUHLUR�GH�������$�DWLYLGDGH�IRL�UHDOL]DGD�QR�SHUtRGR�GH�GXDV�KRUDV��


